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enliven your quizzing

Prevody jednotek délky

mm, cm, dm, m, km

1

500 cm =

(] 50dm

(J 5dm
6o m =

(J 650cm

(] 6500cm
15000cm =

(J 1500m

(J 150m
298 km =

(J 298000 m

(0 2980m
27 000 m =

(J 27km

(J 2700 km
850 mm =

(] 8500cm

(] 85cm
790 dm =

(J 79m

(J 7900 m
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6 500 dm =

3210dm =

56 000 m =

87 m=

48 cm =

5100 cm =

63 km =

4100cm =

74 cm =

U
U

U
U

0Q4d 0Qd 0Q4d 0Qd 0Qd 00

04

65m
650 m

32100 m
32T m

56 km
560 km

8 700 mm
87 000 mm

480 mm
4 800 mm

51 m
510 m

6300 m
63 000 m

41T m
410 m

740 mm
7 400 mm
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43 m=

990 m =

6 700 mm =

U
U

U
U

0O
0O

43 000 mm
430 mm

99 dm
9900 dm

67 dm
670 dm
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